
qm=;+= ljj/0f j8f g+= ljlgof]lht /sd s}kmLot

ljleGg sf]if

1 cfs:dLs sf]if 2,500,000.00  

2 ;dk'/s sf]if 2,000,000.00  

3 ljkt Joj:yfkg sf]if 2,500,000.00  

4 afn sf]if 200,000.00   

5 dd{t ;+ef/ sf]if 2,800,000.00  

;fj{hgLs v/Lb

1 ;jf/L ;fwg -ufl8_ vl/b 5,500,000.00  

2 ;jf/L ;fwg -afOs_ vl/b, $ j6f 1,100,000.00  

3 kmlg{r/ vl/b 1,000,000.00  

4 d];Lg/L cf}hf/ vl/b 2,000,000.00  

slG6Gh]G;L /sd 2,978,200.00  

ljljw

1 ;'s'Daf;L / af9L–klx/f] af6 lj:tflktnfO{ 3/ agfpg cg'bfg 2,000,000.00  

2 :jf]/f]huf/ cg'bfg sf]if 5,000,000.00  

3 k"FhLut cg';Gwfg tyf k/fdz{ 2,000,000.00  

4 ljeLGg ;+3 ;+:yfnfO{ sfo{qmd ;xof]u 500,000.00   

5 ;]km xfp; ;+rfng cg'bfg 60,000.00    

6 lhNnfdf afn u[x :yfkgfsf nfuL cg'bfg 150,000.00   

7 lhNnfdf ljkt Joj:yfkg ;lrjfno :yfkgf ;xof]u 50,000.00    

8 :ju{4f/L SofDk;nfO{ cg'bfg ;xof]u 100,000.00   

9 l;sdL{ 8sdL tflnd 200,000.00   

10 uf=kf :t/Lo dlxnf ;+hfn u7g 7,500.00     

11 jfn sNof0f ;dLtL  u7g 5,000.00     

12
ckfË x?sf] tYofª\s +;+sng ,j8f:t/Lo ;+hfn u7g / 

cled'vLs/0f sfo{qmd 100,000.00   

13 uf}d'vL ldl8of ;Dd]ng 300,000.00   

14 ljleGg v]ns'b sfo{qmd 300,000.00   

uf}d'vL ufpFkflnsf 

ufFp sfo{kflnsf] sfof{no

cf=j= )&%÷&^ sf] k|:tfljt of]hgf

ufpFkflnsf
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j8f sfof{no ejg lgdf{0f tyf ljljw Joj:yfkg

1
j8f g+= @,^ / & sf] j8f sfof{nodf em\ofndf u|Ln tyf /+u 

/f]ugsf nfuL k|To]s j8f -#)),))) k|tL_ 900,000.00   

lzIff

1
ljBfnox?nfO{ lzIfs ljBfyL{ cg'kftsf cfwf/df lk=;L=Pkm= 

cg'bfg
;a}

6,200,000.00  

2 afnljsfz lzIfsnfO{ tflnd ;a} 200,000.00   

3 afnd}qL lzIf0f l;sfO{ tflnd ;a} 200,000.00   

4 k|=c= a}7s oftfoft vr{ ;a} 200,000.00   

5 yk ePsf afnljsfz s]Gb| lzIfs tna ;a} 500,000.00   

6
ljBfnosf sd{rf/Lx?nfO{ kf];fs eQf sl/a !)) x !%))

;a}
150,000.00   

7 lakGg ljBfyL{x?nfO{ :6]:g/L ljt/0f ;a} 200,000.00   

8
cleefjs lzIff sfo{qmd tyf Joj:yfkg ;ldltnfO{ 

cled'vLs/0f sfo{qmd 250,000.00   

ljBfnosf] sIff sf]7f e'FO{ 9nfg

1 afnlhjg cf=lj= df @ sf]7f e'FO{ 9nfg 50,000.00    

2 hgk|Lo k|f=lj= df $ sf]7f e'FO{ 9nfg 60,000.00    

:jf:Yo

1 d=:jf=;] dfl;s ;ldIff oftfoft 489,600.00  

2 dlxnf :jf:Yo :jo+ ;]ljsf l/rfh{ vr{  122,400.00  

3 cfdf ;d''x k'ghfu/0f sfo{qmd 48,000.00   

4
d=:jf=;]] tyf lkmN8 :Jff:Yo sdL{ x?sf] nfuL emf]nf ljt/0f 106,500.00  

5 :jf:Yo ;+jlGw kq klqsf 5kfO{ 10,000.00   

6 :Jf:Yo ;+jlGw ;'rgf ;fdfu|L 5kfO{ 25,000.00   

7
lszf]/ lszf]/L k|hgg :jf:Yo ;+jlGw ljBfno :Jff:Yo lzIff 

sfo{qmd 30,000.00   

8
;'lt{hGo kbfy{ ;]jg tyf o:sf] xflgsf]] jf/]df 

cled'lvs/0f sfo{qmd 100,000.00  

9
:Jff:Yo ljdf sfo{qmd k|rf/ k|;f/ tyf cled''vLs/0f  

sfo{qmd 90,000.00   

10 k|hgg\ :Jff:Yo ;+jlGw ;f;'j'xf/L cGqs[of sfo{qmd 150,000.00  
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11
Pr cfO{ le P8\:f ;DjlGw tflnd tyf cled'vLs/0f 

sfo{qmd 120,000.00  

12 cTofj;lso cf}iflw vl/b tyf ljt/)f sfo{qmd 1,600,000.00 

13 :Jff:Yo ;+:yfsf] tYofFs ljin]if0f sfo{qmd RDQA 80,000.00   

14
ljBfno df dlxgfjf/L Joj:Yffkg sfnfuL ;]g]]^/L Kof8 

ljt/0f tyf :Jff:Yo lzIff sfo{qmd 40,000.00   

15
k'hf :jf:Yo rf}sLdf Nofj sf s]dLsn tyf cf}iflw x? 

vl/b 78,500.00   

16
ljkb Aoj:yfkg sf] nfuL cTofj;lso cf}iflw vl/b tyf 

Jofj:Yffg vr{ 150,000.00  

17
cfdf ;''/Iff oftfoft tyf ue{jlt pTk|]0ff eQf sf] nfuL 

yk cg'bfg 750,000.00  

18 Gofgf] emf]nf vl/b sf] nfuL yk ljlgof]]ht /sd 380,000.00  

19
cf=j=@)&$÷)&% sf] e'Qmflg lbg jfsL cfdf ;'/Iffsf] 

/sd sf] nfuL ;f]w egf{ 500,000.00  

20

:Jff:Yo ;+:yfsf] kmf]xf]/ nfO plrt Joj:yfkg ug]{ sf=;= 

tyf :jf:Yo ;+:yfnfO k'/:s[t sfo{qmd sf] nfuL -/sd 

aflif{s ;ldIff sfo{qmd df_ 7,000.00    

21
dfl;s ;ldIff oftfoft tyf e|d0f tyf sfo{qmd cg'udg 

vr{   70,000.00   

22

:yfkgfx''g] ;fd'blos :jf:Yo OsfO{ cvf{ ! sf] nfuL 

kmlg{r/ tyf kmlg{l;ª,8|]l;ª nufotsf ;fdfu|L vl/b tyf 

Joj:yfkg sf] nfuL 200,000.00  

23
ufp3/ lsNgLs df  kn:t/,tf/ jf/ tyf 6\jfOn]6 lgdf{0f 

sfo{qmd k'hf n};f/f 195,000.00  

24 lgMz'Ns ue{ kl/If0fsf nfUfL ls6 vl/b tyf ljt/0f 30,000.00   

25 :Jff:Yo ;+:Yffx?sf] jfifL{sf ;dLIffsfo{qmd 30,000.00   

26
j8f :t/Lo :Jff:Yo lzlj/ sf] nfuL j8f g+ #,$,%,^ / & g+ 

j8f sf] nfuL 350,000.00  

27 j8f :t/Lo :Jff:Yo lzlj/ j8f g+ ! / @ sf] nfuL 120,000.00  

28

cfvf lzlj/,tyf cGo k|;'lt nufotsf] ljif];1 ;]jf 

;lxtsf] uf=kf :tl/lo Plss[t :Jff:Yo lzlj/ uf=kf= :t/df  

;Grfng ug{sf] nfuL 500,000.00  

29 EoflS;g tyf cf}iflw 9'jflg sf] nfuL yk /sd 55,000.00   

30 Pr=Pd=cfO=P; k|ltj]bgx?  tyf ;fdfu|L  5kfO{ yk 25,000.00   

31 ckfª\u x?sf] nfuL lgMz'Ns :Jff:Yo ljdf sfo{qmd 150,000.00  
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32
lkmN8 df sfd ug]{ :jf:Yo sdL{x?sf] nfuL lkmN8 eQf  yk 

/sd 55,000.00   
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